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QID : 1 - Select the related word from the given alternatives.
Mosquito : Proboscis :: Elephant : ?
u 1w fashedl & & Hafta aeg 1 gfAv
ATST : AMVoT-aATaeT :: gredt : ?
Options:
1) Tusks
TSIea
2) Grass
ur
3) Jungle
SPaTer
4) Trunk
©
Correct Answer: Trunk
T
Candidate Answer: Trunk
a
QID : 2 - Select the related letters from the given alternatives.
GEI: MKO::SQU:?
few arw fashedt & & daiftrd st @ gfaw -
GEI : MKO ::SQU: ?
Options:
1) Y2z
2) Xvz
3) TVW
4) YWA
Correct Answer: YWA
Candidate Answer: YWA
QID : 3 - Select the related number from the given alternatives.
51:68::57:?
few a7 fashedt & & eftrd dear 1 gfv|
51:68::57:?
Options:
1) 67
2)76
3) 68
4) 86
Correct Answer: 76
Candidate Answer: [ NOT ANSWERED ]
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QID : 4 - Select the odd word from the given alternatives.

u 1w fasmedt 7 & fawer eree &1 gfw
Options:

1) Rose

EIGIE)

S

2) Jasmine

THe

3) Lily

forelr

4) Lotus

hHAT

Correct Answer: Lotus
hHT

Candidate Answer: Lotus
hHT

QID : 5 - Select the odd letters from the given alternatives.

few arw fasedt & & fawar 3Rt 1 gfaw
Options:

1) HEB

2) ZYW

3) OLI

4) VSP

Correct Answer: ZYW

Candidate Answer: ZYW

QID : 6 - Select the odd number from the given alternatives.

T 70 famedt & & fawe dean it giav
Options:

1) 1/4

2) 1/9

3) 1/27

4) 1/16
Correct Answer: 1/27
Candidate Answer: 1/27

QID : 7 - A series is given, with one word n'{issin

t alternative from the given ones that will complete the series.
Umbrella, Suntan, Erupt, Esquire, Risghe, ?
Teh 3eTohd form aram &, TSreet Ueh eree el ol faU 91U et H @ ag HeY fashed T St 3igsha & 91 |
Umbrella, Suntan, Erupt, Esquire, Risque, ?

Options:

1) Ulterior

2) Sue

3) You

4) Aptitude
Correct Answer: Aptitude
Candidate Answer: Sue

QID : 8 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
EFD, IJH, MNL, QRP, UVT ?
Teh 37eTha ToT I B, Torel Ueh U oot &1 4T 910 faehed F & 9 HEl fashed YoAw St 31gshat hl O e |

EFD, IJH, MNL, QRP, UVT ?

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 2/51
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Options:
1) Y2z

2) YZX
3) XYz

4) ZZB
Correct Answer: YZX
Candidate Answer: YZX

QID : 9 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
100, -20, 4,7, 0.16
T 31eTha T ara B, e Ues HET e 81 T arw et 7 & g5 @61 RAidew IT S 3tegwA g |

100, -20, 4, ?, 0.16
Options:
1)-0.8

2)038
3)-1.2

4)1.2
Correct Answer: -0.8
Candidate Answer: -0.8

Options:
1) Tuesday

HITeAR

2) Friday
Yhar

3) Wednesday
FYAR

4) Sunday
BEEIY

Correct Answer: Wednesday
TUAR

S

Candidate Answer: [ NOT ANSWERED ] *

QID : 11 - The weights of 4 boxes are 70,720, 30 and 40 Kg:
and in a combination a box can be used only once?

hich of the following cannot be the total weight, in kilograms, of any combination of these boxes

AR FFET FT Fote 70, 20, 30 31 40 Th.am. §1 e=Teiee & & st & el off Taeter & ool aotel, Thelala  hieT A1 7t 1 Tehell & N Ueh HISTel & Teh SoFT Toh
& IR TR H AT S FeheT &7

Options:

1) 160

2) 120

3) 150

4) 90

Correct Answer: 150

Candidate Answer: 150

QID : 12 - From the given words, select the word which cannot be formed using the letters of the given word.

LANGUISH
e faehedl 3 & 9 Use IIAT ST feT 1T 2ree; o 74T T T e AGT FoA1dT ST HehlT|

LANGUISH
Options:
1) SLING
2) AISLE

3) HANGS
4) GNASH

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 3/51
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Correct Answer: AISLE
Candidate Answer: HANGS

QID : 13 - If DEBAUCH is coded as ABYXRZE, then how will LOG be coded as?

gfe DEBAUCH &t el #s 3 ABYXRZE for@T S1aT &, df LOG &1 33 & & &rar forg@r sream?

Options:
1) AWN

2) 1D
3) MIN

4) HNI
Correct Answer: ILD
Candidate Answer: ILD

QID : 14 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
21 x7+7+3-21=?

TRt IS HTT &, '+' T AdAS 'X' §, - F AT '+' §, 'x' T Aded '+ § 3R '+ F Ao - gl FATI AT T F Ical FAT 82

21 x7+7+3-21=?
Options:

1) 11

2)3

3) 68

4) 67
Correct Answer: 3
Candidate Answer: 3

QID: 15 - If 19@7=6, 8@2=3, 10@8=1, then what is the value of 18@12=

If¢ 19@7=6, 8@2=3, 10@8=1, aY 18@12 = ? I HATF T §IM?
Options:

1) 15

2)9

3)3

4)4

Correct Answer: 3 i
Candidate Answer: [ NOT ANSWERED ] ©

¥

QID: 16 -

Select the missing number from
the given responses

& i
4 | 1|7
213 |8
11110 | 24
516 | 7

e

2)1

3) 25

4)9

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Correct Answer: 9
Candidate Answer: 9

QID : 17 - A woman walks 13 km West, then turns South and walks 5 km, then turns East and walks 13 km, then turns to her right and walks 2 km. Where is she
now with reference to her starting position?

e T 13 Fr 3. TRE 1 3R el &, o 2TRIOT A1 3R 73 e ¥ 3R 5 A el 8, R O o 3R 3 e & 3R 13 Pl wreeh €, R 3 aré i o33
STl & 3R 2 fon. . Terdh &1 a8 319 aRfAe eufa & 39 wer €2
Options:

1) 7 km North

7 R IeR

2) 3 km South

3 .7, gfayor

3) 3 km North

3 R 3caR

4) 7 km South

7 .70, feor

Correct Answer: 7 km South

7 T 7. gfaror

Candidate Answer: 7 km South

7 .50, gfeor

QID : 18 - In the question two statements are given, followed by two conclusions, I and II. You have to consider fe statements to be true even if it seems to be at
Statement
1 : Some educated are graduates.

2 : No graduates are engineers. )

VoS
/Ai".n\<;~'
Conclusion ( }
I : Some graduates are educated. e
II : Some engineers are educated. f/ \\

9T & &l FUT & a3 & formes 31T & sy 1 337 11 eprel a3 &1 31ToeRt A=
F ¢ T fgu are Tt & & Fia-ay/#ia-0 Aiad 9 & Fue garT T@r

m@m%a@aﬁ’mﬂa AT d2at ¥ e gd 81 &l 39eh! Aoy
Fhd 8, I FIS &l

hYeT

1: Fo Rifga A 8

11 : S TS SoNfaTaX A B

sy :

1: $& &iias Riferd 8

I : o oMo e
Options:

1) Only conclusion I follows
Fao Ay I T E

2) Only conclusion II follows
hae oy 11 T8 §

3) Both I and II follow

Al forsen 1 31% 11 T &

4) Neither I nor II follows
T ar forseny [ @8 § a1 &) frseRy 11

Correct Answer: Only conclusion I follows

o forshy I §eT &

Candidate Answer: Only conclusion I follows

Fad frshy I TET &

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 5/51



12/8/2017
QID: 19 -

Which of the following cube in the answer
figure cannot be made based on the unfolded

cube in the question figure?

Al scr Impfa # @ i @ o
U v g% Hpfd A & ol g1 A

TATT AGT ST HhcAT?

©)

Staff Selection Commision

W

%

Options:
1)

=

Ol

2)

3)

&

4)

- i [ ]

1 L] M

ngf

Correct Answer:

- : [ ]
L]

Candidate Answer:

H

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID: 20 -

Inthe following figure, square represents Engineers,
triangle represents Programmers, circle represents
singers and rectangle represents Indians. Which set of
letters represents singers who are either Engineers or
Programmers?

f=fafaa snefa 4, ot Shfaad #t gafar &, Per
et 1 G2 §, ded A F gan § AR Hd
SR T gTar &1 WaRT F Bl | FHE TAH P
gefrar & S ar ar Sonfaay § ar e 87

——
N &
s |” /A
E
H D
Options:
1) GF,A
2)H,D,C
3) FAE
4) ABE

Correct Answer: A,B,E
Candidate Answer: A,B,E

QID: 21-
Which answer figure will complete
the pattern in the question figure?
ferr=faf@a & & #l-e seav Il wer
e & FTTET H O FE?

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 7151
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Options:
1)

2)

Correct Answer:

Candidate Answer:

QID:22-

From the given answer figures, sel
one in which the question figure is
hidden/embedded.

& % seav angpforat # & 3w Il = g
SreA v wgfa @ie 8

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 8/51
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 23-
A piece of paper is folded and punched a
in the question figures. From the given ans
indicate how it will appear when opened.

9o pfadl # Q@IT HJER FETs
HAZET 30H B A JU WA F I 97
fFe Seav gl st fe@rg gam?

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 9/51
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Options:
1)

[e] o
o] [Oe°
ol DOo

Q [+]

2)
o] 00
0 O

0o o

o° “o
3)

] O
o> o
ls) (8]

S ¢
4)
Qoog?
Lo J o
[sFs]
OO
Correct Answer:

[¢] o
o] [°
ol [Oo

Q [o]

Candidate Answer:

[e) o]
e[] [e
ol Oo

O o]

QID: 24 -

If a mirror is placed on the line
which of the answer figures is the
of the given figure?

gfe vw 90T HF MN Y@ 9 1@ e ar &

3o 3Tl H  Fla-dr 3T W i
& T gfafees g
(@)
M N

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 10/51
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Options:
1)

Q

2)

3)

4)

0

Correct Answer:

o]

Candidate Answer:

Q

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 11/51
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QID: 25-

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given in
the alternatives are represented by two classes of alphabets
as shown in the given two matrices. The columns and rows
of Matrix-I are numbered from 0 to 4 and that of Matrix-II
are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for
example 'K' can be represented by 40, 33 etc and 'Z' can be
represented by 67, 59 etc. Similarly, you have to identify the
set for the word 'TIRE'.

U Ueg Fad U HEA-HHg gdll gfar a:ar g, or &
fwedt # & Rl v & fGar &) fwedr &7 Re aw
HEA-HAE EW & ar et ganr gefiv v §, o R R
T g AR H gl ARl & wae AR ufed o wem
0 4 3R Hegg-ll & 5 & 9 I 37 HegEl & UF MR
FI Ugel ITDT Uidd IR GG A FEFH & GaRT T 3
THAT g1 3EEROT & fow 'K' # 40, 33 e ganrr geirar o
THaT § T 'Z' & 67, 59 g gaRT gRET S AT §
3 g & HOH W # U e ‘TIRE' & faw @og =t

TR gl O
Matrix | Matrix Il
AR -1 g - O

2
M
I
H
E
B

Blwin =
=|T|(o|—|m|o
rlol—-o|2|=
=m0 |w
Zm|l=mZ|s

Options:
1) 20,44,76,59

2) 33,40,99,55
3) 68,10,75,32

4) 41,13,86,67
Correct Answer: 68,10,75,32
Candidate Answer: 68,10,75,32

QID : 26 - What is the largest 4 digit number exactly divisible by 91?

4 3Rt Y T S TEAT, S 91 W Ol e A AT N, e FE?

Options:

1) 9909

2) 9929

3) 9949

4) 9919

Correct Answer: 9919

Candidate Answer: 9919

QID : 27 - P is twice as good as workman as Q and together they finish a piece of work in 28 days. In how many days will P alone finish the work?

P Q & G 3reeT FRER & 3R & & & 28 et 7 Tt &7 U EaT O Xl &1 31hell P 36 &1 1 Fhctel et & Wedw aam?
Options:

1) 28

2)35

3) 49

4) 42

Correct Answer: 42

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Candidate Answer: 28

QID : 28 - What is the area (in sq cm) of a rectangle of perimeter 200 cm and breadth 45 cm?

200 A7, Fr gk 31T 45 @70, TisrS arer e 3T FT ST (T AL 7)) FTR?

Options:

1) 4275

2) 2475

3) 4675

4) 6475

Correct Answer: 2475

Candidate Answer: 2475

QID : 29 - If the selling price of an item is Rs 1740 after getting a discount of 25%, then what was the marked price (in Rs)?

FiE fordl o] 1 TIshl Hed 25% T g Ao & a6 1740 T &, o 3T 3feha Hod (T &) &7 &1

Options:

1) 2320

2) 3230

3) 2230

4) 3320

Correct Answer: 2320

Candidate Answer: 2320

QID: 30 - If 4A = 2B = 3C; then whatisA: B : C?

gfg4A=2B=3C, aTA:B: CFaT §?
Options:

1)3:2:4

2)3:6:4

3)1/4:1/6:1/3

4)1/3:1/6:1/4 o
Correct Answer: 3:6:4
Candidate Answer: 3:6: 4

QID : 31 - The average cost of 3 items in a shopping list is Rs 3,200. If one se cost is Rs 1,000 is added to the list what will be the new average (in

Rs)?

ey BT g 7 3 a3t B e o 3,200 ¥ AT v

Options:

1) 2650

2) 2550

3) 2750

4) 2850

Correct Answer: 2650

Candidate Answer: 2650

ST ST ForgeRT Hed 1,000 % &, o 71T 3iwd (% #) = gram?

QID : 32 - If a vendor sells oranges at Rs 108/dozen he makes 10% loss. If he sells at Rs 138 then what will be the profit (in %)?

3R 1S TashaT 108 % / GoleT & 1T A Hell STl § af 38 10% T JHHT eI &1 AT a8 3§ 138 T & J=alr ¢ a Fhctarr amet (% #) gram?
Options:

1) 20

2) 15

3) 10

4)5

Correct Answer: 15

Candidate Answer: 15

QID : 33 -5is 0.025% of

fahdet & 0.025%, 5 7

Options:

1) 20000

2) 2000

3) 200

4) 200000

Correct Answer: 20000

Candidate Answer: 20000

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 13/51
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QID : 34 - A taxi going at 60 km/hr takes 25 minutes to travel a certain distance. By how much should it increase its speed (in km/hr) to travel the same distance in
15 minutes?

e AT Y 60 oA /Wﬁﬂﬁﬁmﬁg@@ﬁﬁﬂaqﬁaﬁrwéﬁﬁvzs TAeTe oferat §1 15 Tete H 38T gt o7 Imr el & Torw 8 3roeh arfey (fom. . jeer )
el gig et =Tige?

Options:

1) 60

2) 40

3)80

4) 20

Correct Answer: 40

Candidate Answer: 40

QID : 35 - Compound interest received on a certain amount for the 3rd year is Rs. 9,600. What will be the compound interest (in Rs) for the 4th year on the same
amount at 12% rate of interest?

e ¥ 7 v fARea AR o ured kg sarsr 9,600 T &1 Y a¥ & faw FaAre T w1 12% A1eT &X & Tehqfg sa1eT (¥ H) F:41 gem?

Options:
1) 10752
2) 11752
3) 10252
4) 11252

Correct Answer: 10752
Candidate Answer: [ NOT ANSWERED ]

QID : 36 - If (3x)/5 - (4/5)(10/3 - x/2) = -2/3, then what is the value of x?

Ife (3x)/5 - (4/5)(10/3 - x/2) = -2/3, A x I ATA F2T §?

Options: PSS
1) -2 (
2)10/3 \
3)2
4)-10/3 f/

Correct Answer: 2
Candidate Answer: 2

QID : 37 - If a3 + b3 = 208 and ab = -12, then what is the value of a

Ffgad + b3 =2083Kab=-12% ara + b F AT FATE?
Options:

1)8

2)12

3)11

4) 4

Correct Answer: 4
Candidate Answer: 4

QID : 38 - A fraction is greater than thrice its reciprocal by 23/6. What is the fraction?

T e 38 ogoohe & et a1 & 23/6 A 318 & ey Far 82
Options:

1)9/2

2)2/9

3)9/4

4) 4/9

Correct Answer: 9/2

Candidate Answer: 9/4

QID : 39 - What is the sum of the first 12 terms of an arithmetic progression if the 3" term is -14 and the 6% term is -5?

Teh AT A0f & F2UH 12 Tel &7 J9T 247 &, Tfe RT e -14 § 3R Sor g -5 B
Options:

1) -239

2) -42

3) 164

4) 218

Correct Answer: -42

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 14/51
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QID : 40 - What is the reflection of the point (-2, 6) in the line x = -1?

@ x = -1 # 1§ (-2, 6) 1 wfafds 1 §?
Options:

1)(-2,-8)

2)(2,6)

3)(0,6)

4)(-2,8)

Correct Answer: (0, 6)

Candidate Answer: (2, 6)

QID : 41 - In what ratio is the segment joining point (3 , -3) and point (-5, 2) divided by the y-axis?

faig (3, -3) 3R &g (-5, 2) T SswAdTAT WWES y-378T & fhd 3egurey & fasnfaia giar 872
Options:

1)5:3

2)3:2

3)3:5

4)2:3

Correct Answer: 3 : 5

Candidate Answer: [ NOT ANSWERED ]

QID : 42 - What is the slope of the line 5x + 4y = 10?

X@T 5x + 4y = 10 FT Gollol FAT 87
Options:

1) 5/4 e\
2) -4/5 1
3)-5/4 PR

4) 4/5
Correct Answer: -5/4

Candidate Answer: -4/5 {’ ‘x.:;,.,ft/
fg(in sq cm)

QID : 43 - AXYZ is similar to APQR. and XY:PQ=4:1. If Area of APQR is 4 sq cm, .the a of AXYZ?

AXYZ 3 APQR T TIeT & 3T XY:PQ=4:1 ¥| A% APQR T 81T 4 3o . ST (LAY, ) T
Options:

1) 16

2)32

3) 64

4)28

Correct Answer: 64

Candidate Answer: 64

QID : 44 - What is the value of 1/v3 Tan'45° + Cosec 60%%

1/v/3 Tan 45° + Cosec 60° =? T HTeT T &1

Options:

1) (V3 + 2)/2
2) (V3 +2)V3
3) V3
4)V3+2

Correct Answer: V3
Candidate Answer: [ NOT ANSWERED ]

QID : 45 - A PQR is right angled at Q. If mzR = 30° then Cos P x Cosec P =?

A PQR Q R HAOT & Ife mzR =30° &, & Cos P x Cosec P =?

Options:

1) V3

2) V2

3) 1/V3

4) 1/V2

Correct Answer: 1/V3
Candidate Answer: 1/V3

QID:46-If Cos® = 0.6 ,then Tan 6 = ?
g7 Cos @ = 0.6, Tan @ = ?

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 15/51
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Options:

1)0.8

2) 4/3

3) 1.25

4) 3/4

Correct Answer: 4/3
Candidate Answer: 4/3

QID: 47 -

The pie chart shows weight in gms of ingredients required to bake a 90
gm cake. Study the digram and answer the following questions.

1% =12 90 TH Hoh TR o (o AraIaE qrA ®T TS 9T H =ZeiaT
21 T S0 FT AAIAT B S (Aetertad Tsef &7 It 21

" = Butter / H%EH, 10

" Eggs / 3‘]%, 20
Which two ingredients are required for the cake in the same quantity?

® Dry fruit / S5 1€ 27
* Chacolate / m, 15

® Sugar / iﬁ;ﬁ, 15
® Baking power ;’WW, 3

ek & ToIT TATT AT 7 ST A T TTHIT ITaTH it &7
Options:

1) Sugar and Chocolate

AT 3R Afepele

2) Baking powder and butter

ST UI3ER 3R AT

3) Dry fruit and Eggs

1S e 3 37

4) Eggs and butter

373 AR AFEa

Correct Answer: Sugar and Chocolate

rFhT 3R Alpele

Candidate Answer: Sugar and Chocolate

rFRT 3R Alehele

QID: 48 -
The pie chart shows weight in gms of in
gm cake. Study the digram and answer the

uTE =T 90 TTH F THTH F 00 ATTIAT TAAT FT TFT ATH A 29707
2| T ACE FT AT B A< AefertaT gsef &1 3t 2

" = Butter / HPEH, 10

" Eggs / \3']::5, 20
Weight of dry fruit is lesser (in %) than the combined weight of sugar and chocolate by?

required to bake a 90
ing questions.

® Dry fruit / STa € 27
®* Chacolate / ?ﬁ%ﬁt‘d, 15

* Sugar / iﬂﬁt 15
® Baking power ;WW, 3

318 $he FT dutel AR IR Tiehere & T aotet A ekl H (% F) g 82

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 16/51
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Options:

1) 10

2)3

3)3.3

4) 12

Correct Answer: 10
Candidate Answer: 10

QID: 49 -

The pie chart shows weight in gms of ingredients required to bake a 90
gm cake. Study the digram and answer the following questions.

TS =12 Q0 TH Hoh TR o (o AraeaE qrA ®T a9 9T H ZeiaT
21 T S0 FT AAIAT B S (Aetertad Tsef &7 It 21

" = Butter / H%EH, 10

" Eggs / 3‘]%, 20
If only butter was doubled, then butter would be what percent of the total ingredients?

® Dry fruit / S5 1€ 27
* Chacolate / m, 15

® Sugar / iﬁ#t 15
* Baking power ;’WW, 3

I Sraret HFEe I Q[T AT ST, A o Fraiat 7 e gfaerd Jergst grom?
Options:

1) 18

2)11.11

3)20

4)22.22

Correct Answer: 20
Candidate Answer: 20

QID : 50 -
The pie chart shows weight in gms of j
gm cake. Study the digram and ans

qTE AT 90 UTH ok T F o
21 T AT & AAIT B ST

Jla

If 2 dozen cakes each of 180 gms have to be baked then how much butter (in gms) will be required?

o =eriar

* Sugar / iﬁ;ﬁ, 15
" Baking power IWW, 3

I U AF 180 TH & &Y il heb! T Sk AT SATT Y el FHeF@eT (ITH ) G gM?
Options:

1) 480

2) 240

3) 120

4) 360

Correct Answer: 480

Candidate Answer: 480

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 17/51
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QID : 51 - In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I have a background (1)/ on engineering, I want to train (2)/ others like me in the field. (3)/ No Error (4)
Options:

11

2)2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 52 - In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He lined a basket with (1)/ cotton wool and converted (2)/ it in a bed for the parrot. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 53 - In the following question, the sentence is given with blank to be filled in with an appropriate word. Selegt the correct alternative out of the four and
indicate it by selecting the appropriate option. :

The outdoor area is with murals and paintings on the facade. V&
Options: {
1) vibrancy \
2) vibrant P
3) vibrance ( }
4) vibration V4
Correct Answer: vibrant
Candidate Answer: vibrant

QID : 54 - In the following question, the sentence is given with blank to be fil
indicate it by selecting the appropriate option.

ppropriate word. Select the correct alternative out of the four and

The wicked landlord has made my life
Options:

1) miserables

2) miserable

3) miserably

4) miserability

Correct Answer: miserable

Candidate Answer: miserable

QID : 55 - In the following question, out of the‘four alternatives, select the word similar in meaning to the word given.

Juxtaposition

Options:

1) Obscure

2) Inaccessible

3) Proximity

4) Abstracted

Correct Answer: Proximity
Candidate Answer: Proximity

QID : 56 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Primordial
Options:

1) Eventual

2) Subsequent
3) Imminent
4) Prehistoric

Correct Answer: Prehistoric
Candidate Answer: Prehistoric
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QID : 57 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Saintly

Options:

1) Angelic

2) Reprehensible

3) Pious

4) Beatific

Correct Answer: Reprehensible
Candidate Answer: Reprehensible

QID : 58 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rant

Options:

1) Diatribe

2) Harangue

3) Tirade

4) Calm

Correct Answer: Calm
Candidate Answer: Diatribe

QID : 59 - In each of the questions, four alternatives are given for the Idiom/Phrase. Select the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

In asnap

Options:

1) Retort, say hurtful things

2) A beautiful picture

3) In a moment; almost immediately

4) Open and close something very quickly

Correct Answer: In a moment; almost immediately

Candidate Answer: In a moment; almost immediately s

QID : 60 - In each of the questions, four alternatives are given for the Idiom/Ph

ect the/élternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it. ot

Under the weather
Options:

1) Be happy irrespective of good or bad weather
2) Not able to make a decision, confused
3) Feel sick or poorly

4) Be excessively obsessed with nature
Correct Answer: Feel sick or poorly

Candidate Answer: Not able to make a decision, ¢

QID : 61 - A sentence/a part of the sentence is bracketed. alternatives are given to the bracketed part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The children (are making) to mix clay with their feet.
Options:

1) is made

2) was made

3) are made

4) No improvement

Correct Answer: are made
Candidate Answer: are made

QID : 62 - A sentence/a part of the sentence is bracketed. Four alternatives are given to the bracketed part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The parrot (taking) home.
Options:

1) was taken

2) are taken

3) were taken

4) No improvement

Correct Answer: was taken
Candidate Answer: was taken
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QID : 63 - Out of the four alternatives, choose the one which can be substituted for the given words / sentences and click the button corresponding to it.

A shining wet or greasy thing
Options:

1) Murky

2) Somber

3) Glisten

4) Aphotic

Correct Answer: Glisten
Candidate Answer: Glisten

QID : 64 - Out of the four alternatives, choose the one which can be substituted for the given words / sentences and click the button corresponding to it.

An assembly of all the members of a group or committee
Options:

1) Plenum

2) Reclusive

3) Destitute

4) Troglodytic

Correct Answer: Plenum

Candidate Answer: Plenum

QID : 65 - Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) preammbles

2) preambles

3) preambeles

4) preammbeles

Correct Answer: preambles

Candidate Answer: preambles AR

QID : 66 - Four words are given, out of which only one word is spelt correctly. Choose the corregtly spgl}word and click the button corresponding to it.
e ~ A e

Options: {/ N N

1) upraisings g \}

2) upprisings -

3) uprisings ’

4) uppraisings

Correct Answer: uprisings

Candidate Answer: uprisings

QID : 67 - The question below consists of a s
coherent paragraph.

e four options given, select the most logical order of the sentences to form a

There is, however, another
X-many thoughtful persons to reject
Y-objection that predisposes
Z-parallelism uncompromisingly
Options:

1) X2y

2) XYz

3) YXZ

4) ZYX

Correct Answer: YXZ
Candidate Answer: YXZ

QID : 68 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

We have always

X-beings as social and spiritual beings
Y-seen and conceptualised human
Z-with a purpose in life

Options:

1) YXZ

2) Xzy

3) XYz

4) 7YX

Correct Answer: YXZ
Candidate Answer: YXZ
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QID : 69 - In the following question, a sentence has been given in Active / Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive / Active voice.

She had posted the letter.

Options:

1) The letter have been posted by her.

2) Posting of the letter has been done by her.

3) Posting of the letter was being done by her.

4) The letter had been posted by her.

Correct Answer: The letter had been posted by her.

Candidate Answer: The letter had been posted by her.

QID : 70 - In the following question, a sentence has been given in Direct / Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect / Direct speech.

“I'm wearing my lucky pendant, so I should be safe.” she said to him.

Options:

1) She told him that she is wearing her lucky pendant so she should be safe.

2) She tells him that she was wearing her lucky pendant so she should be safe.

3) She told him that she was wearing her lucky pendant so she should be safe.

4) She tells him that she is wearing her lucky pendant so she should be safe.

Correct Answer: She told him that she was wearing her lucky pendant so she should be safe.

Candidate Answer: She told him that she was wearing her lucky pendant so she should be safe.

QID : 71 - In the following passage, some of the words have been left out. Read the passage carefully and select ghe correct answer for the given blank out of the
four alternatives.

¥

2016 was the year that us to look within. Introspection allows us how invisiBlé*forces shabe us and how an obsession with trying to
establish the pre-eminence of the human brain us to the intricate connections that we Efave withibaeteria. With a far longer history
people and the unsurpassed masters of survivals, it isn't surprising that there are more bacteria % . our guts than there are stars in the Milky Way.
4 9 /
£ [/}
2016 was the year that us to look within. ( X
Options: % }
1) force N N
2) forcing }
3) forced ,;
4) forces ¢

Correct Answer: forced
Candidate Answer: forced

QID : 72 - In the following passage, some of the words have be . Red@l the passage carefully and select the correct answer for the given blank out of the
four alternatives.

2016 was the year that us to look allows us how invisible forces shape us and how an obsession with trying to
establish the pre-eminence of the human brain the intricate connections that we have with bacteria. With a far longer history
people and the unsurpassed masters of survivals, it i here are more bacteria our guts than there are stars in the Milky Way.

Introspectionallowsus__ © how invisible
Options:

1) to ponder

2) pondering

3) ponders

4) pondered

Correct Answer: to ponder

Candidate Answer: to ponder

QID : 73 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

2016 was the year that us to look within. Introspection allows us how invisible forces shape us and how an obsession with trying to
establish the pre-eminence of the human brain us to the intricate connections that we have with bacteria. With a far longer history
people and the unsurpassed masters of survivals, it isn't surprising that there are more bacteria our guts than there are stars in the Milky Way.

pre-eminence of the human brain us to the intricate connections.
Options:

1) blindingly

2) has blinded

3) to blind

4) blinding

Correct Answer: has blinded

Candidate Answer: has blinded
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QID : 74 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

2016 was the year that us to look within. Introspection allows us how invisible forces shape us and how an obsession with trying to
establish the pre-eminence of the human brain us to the intricate connections that we have with bacteria. With a far longer history
people and the unsurpassed masters of survivals, it isn't surprising that there are more bacteria our guts than there are stars in the Milky Way.

With a far longer history people and the unsurpassed masters of survivals,
Options:

1) than

2) then

3) that

4) when

Correct Answer: than

Candidate Answer: than

QID : 75 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

2016 was the year that us to look within. Introspection allows us how invisible forces shape us and how an obsession with trying to
establish the pre-eminence of the human brain us to the intricate connections that we have with bacteria. With a far longer history
people and the unsurpassed masters of survivals, it isn't surprising that there are more bacteria our guts than there are stars in the Milky Way.

There are more bacteria our guts than there are stars in the Milky Way.
Options:

1)on

2) onto

3) within

4) of

Correct Answer: within
Candidate Answer: on

QID : 76 - In which year the 'Operation Flood' was launched in India? (

IR F "3RS 916" T v a¥ & wReT fFar arm ar?

Options:
1) 1970
2) 1980
3) 1990
4) 2000

Correct Answer: 1970
Candidate Answer: 1970

QID : 77 - 'Rights against exploitation' are given Indian Constitution?

'AOT & f&ATh HUFER ARAT Gfaeme & fohel
Options:

1) Article 14 to 18

FeTeE 149 18

2) Article 19 to 22

FeTede 19 § 22

3) Article 23 to 24

3TeE 23 | 24

4) Article 25 to 28

Fefede 25 9 28

Correct Answer: Article 23 to 24
FeJeSs 23 § 24

Candidate Answer: Article 14 to 18
3eTede 14 9 18

QID : 78 - What is the minimum age to contest an election for Lower House (Lok Sabha) in India?

AR & AR 13H (AIehas ™) & TIT olTa ofset o T ~geTaie 35 &1 §?
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Options:

1) 18 years

18 a¥

2) 20 years

20 @y

3) 25 years

25 a§

4) 30 years

309y

Correct Answer: 25 years

259y

Candidate Answer: 25 years

25 I

QID : 79 - The Portuguese came to India in search of

EGEIGH &I TeITer F $TRT 31T I

Options:

1) Muslin cloth

AT HUST (FAHT & HI3)
2) Labours

T

3) Spices

AT

4) Gold

|t

Correct Answer: Spices

AT

Candidate Answer: Muslin cloth

AT HYST (FHT & HUI)

QID : 80 - In which year Swadeshi Movement started in India?

Wﬁmﬁ%ﬁﬁiﬁwaﬁrsﬁmﬁma&ﬁ@?ﬁ?
Options:
1) 1900
2) 1890
3) 1905

4) 1911
Correct Answer: 1905 &
Candidate Answer: [ NOT ANSWERED ]

QID : 81 - What does "Tri-ratna" indicate in Budhism?

Sy o7 7 "F-3cT" FT ST Aar 82
Options:

1) Vinay Pitaka, Sutta Pitak, Abhidhamma Pitak
et e, g e, sifoees Tes

2) Sarnath, Lumbini, Bodh Gaya

ARATY, offFa=iT, §rer argn

3) Love, Compassion, Mercy

U, FHTOM, &AT

4) Truth, Non-violence, Kindness

e, 3R GATefar

Correct Answer: Vinay Pitaka, Sutta Pitak, Abhidhamma Pitak
T&erar e, ga e, sifdees New
Candidate Answer: [ NOT ANSWERED ]

QID : 82 - What is the approximate North-South extent of India from Kashmir to Kanyakumari?

HYHAR A HATHARY Teh HRA T JTHIAT Sccl-GaT0T h1 HAT Fheiell 2
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Options:

1) 2400 km
2400 f&.#.
2) 2900 km
2900 .7 .
3) 3200 km
3200 ..
4) 3600 km
3600 .5,

Correct Answer: 3200 km
3200 .30,

Candidate Answer: [ NOT ANSWERED ]

QID : 83 - The Indian Peninsular was a part of which land?

T ST forer $8TTer ot foeam ar?
Options:

1) Gondwana

CIECICH

2) Eurasia

TR

[N

3) Americas

IAREE

4) Siberia

argafar

Correct Answer: Gondwana
BIEGIGH {
Candidate Answer: [ NOT ANSWERED ] , > X

QID : 84 - How many parallel mountain ranges are there in Himalaya's longitudinal exte??“‘«'; \

TR BT 3geed AT A el FATATR TdcaTey 82 )

Options:

1)2

2)3

3)4

4)5

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 85 - Which among the following is tnﬂé rega of Andaman and Nicobar islands?

3SR PRI @ & sier 3 v ot festeie
Options:

1) They are coral islands.

q HRA & &

2) They are located in the Arabian Sea.

I 3RT AR H ua §

3) These islands are elevated portion of submerged mountains.

¥ 1T THI TgTST T FU 30T g3 & |

4) No option is correct °

1S fashoT el 781 &

Correct Answer: These islands are elevated portion of submerged mountains.
¥ gy STerFTeT ETST T S 3BT g3 &1

Candidate Answer: They are located in the Arabian Sea.

9 3R aPR & Fua g1

QID : 86 - Which state in India has largest reserves of coal?

A ¥ Fe T & P 7 T T87 He 2
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Options:
1) Jharkhand
SRWS
2) Bihar
fagr
3) West Bengal
gfegs sarmer
4) Chattisgarh
EIGIREI
Correct Answer: Jharkhand
EIRECES
Candidate Answer: Jharkhand
SIRES

QID : 87 - How is the climate of India described?

AR S STeraryg e TR afotd 82
Options:

1) Monsoon type

AT TR

2) Equatorial type

HACIET TR

3) Tundra type

31 IhR

4) Mediterranean type
HACTHIRIT FehX

Correct Answer: Monsoon type
HAGT TR

Candidate Answer: Monsoon type
HIAGA 9hR

QID : 88 - Which of the following is the smallest?

AR # & i T Sler §?
Options:

1) 6V12

2) 3V6

3) 4v8

4)V3

Correct Answer: V3

Candidate Answer: V3

QID : 89 - When a ball is thrown upwards;than at what p ] potential energy will be maximum?

SIS Ueh 31 Bl SO T IR et ST &, T fovdl St ST SHehr eforst St it gielh @2
Options: 4
1) At time of throwing

el & TAT

2) At the ground

STHT

3) Just before striking ground

SHI W e ¥ Sk Uger

4) At top most position

I I TUT |

Correct Answer: At top most position

I 3 T |

Candidate Answer: At top most position

Y 5 TUH R

QID : 90 - In humans, sound is produced by which organ?

Fgsat &, eafel fohg 39T & Scueat gl 87
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Options:
1) Larynx
Hc (IRF)
2) Tongue
Sitear
3) Lungs
L]
4) Diaphragm
STATHTH
Correct Answer: Larynx
o (IRF)
Candidate Answer: Larynx

Fo (aIRFa)
QID : 91 - Which among the following elements comes under metalloids?

freafaf@a 3 & Fia @1 aca 39T (FeddissH) & 3iaed 317ar §?
Options:

1) Germanium

oo

2) Zinc

& ()

3) Silver

ter

4) Gold

|t

Correct Answer: Germanium

i)

Candidate Answer: Gold

T

QID : 92 - The Government of which state has launched “Mathru Poorna Scheme
state?

T & FTAOT &73T & sfacly 3R TaAUTeT T arelY AR Hr Q9o Ae
Options:

1) Uttar Pradesh
el TS

2) Karnataka
Emirc

3) Haryana
ghR=mom

4) Punjab

ErEic

T ¥ foT e Toa 1 SR A "y Ol A ow 82

Correct Answer: Karnataka

Feilcdh
Candidate Answer: [ NOT ANSWERED ]

QID : 93 - In which country the world’s first ‘negative emission carbon-capture plant’ begins its operations?

oV ST T2 ABRIHS IcHoNeT Hlelel-hoal HAF' T o G2 7 FHlelof TN §31T &2
Options:
1) Iceland

K CE

2) Germany
AT

3) Japan
SIEICE

4) China
AT

Correct Answer: Iceland
ST

Candidate Answer: Iceland

AT
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QID : 94 - Who is the winner of 2017 French Open badminton men’s singles title?
2017 Vv 39T dsTHes qEsT & Tehel TcTe T faeidr i 87
Options:

1) Kenta Nishimoto

Fer AR

2) Kidambi Srikanth

forgelT st

3) Lee Yang

o 7T

4) Lee Jhe-huei

SERY

Correct Answer: Kidambi Srikanth

TorgdlT st

Candidate Answer: Lee Yang

o T

QID : 95 - India and Sri Lanka have signed MoU to build 1200 houses in .

IR 7T Arelehl 1 1200 =R &7 AT & & foIT A3 R gEdaai e
Options:

1) Hambantota
gFaeerer

2) Kandy

&2

3) Jaffna
SITeT

4) Galle

el

Correct Answer: Hambantota
gFSeTerer
Candidate Answer: [ NOT ANSWERED ]

QID : 96 - Who is the winner of 2017 Man Booker Prize?

AT FHR [EHR 2017 7 fISTaT et 82
Options:

1) George Saunders

ST sy

2) Paul Beatty

RICKCE

3) Marlon James

ArcifeT e

4) Richard Flanagan

RS FeraTere

Correct Answer: George Saunders
ST sy

Candidate Answer: George Saunders

ST Alesy
QID : 97 - 21 member committee headed by banker Uday Kotak is a committee on

T 35T P HY HETLTAT aTel 21 TeedT TR R & dfAfT gl
Options:

1) E-governance

S-emaeT

2) Fiscal policy

TR sAifer

3) Corporate governance

FIART TG

4) Credit policy

ECiic)

Correct Answer: Corporate governance
HIARET AT

Candidate Answer: [ NOT ANSWERED ]
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QID : 98 - Asia Pacific Economic Cooperation (APEC) Summit, 2017 was held in which country?

i $Rafe snfde deaier (vid) TFae, 2017 fFa g & 3mafSia fomam sram?
Options:

1) Vietnam

[CERDIE

2) Guinea

e

3) Indonesia

EEoIRp

4) India

AR

Correct Answer: Vietham

RGO
Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Near which city has the Uttar Pradesh State Cabinet approved India’s first Blackbuck Conservation Reserve?

3ok TG T ATIHSH o R & TGl Hlel [oX0T HI&TIT 3HIROT &I fohg e & foleve Aol & & 87
Options:

1) Allahabad

ERUGEICY

2) Gorakhpur

IRER

3) Meerut

ERr)

4) Moradabad 1
L SCIEIC S
Correct Answer: Allahabad '
ERUCEICY %
Candidate Answer: [ NOT ANSWERED ] i

) St

QID : 100 - Who has been appointed as the President of US-India Business Co

FARHT-RA AR IR (FUEEI) & et & w9 7 frd Tgaa
Options:

1) Ajay Banga
3T FoIr

2) John Chambers
St a8

3) Nisha Biswal
fover fearer

4) Palash Roy
TelTer AT

Correct Answer: Nisha Biswal

IGEURCRCICH
Candidate Answer: [ NOT ANSWERED ]

QID : 101 - "amu" is a unit of?

Options:

1) Mass

SSTHAT

2) Length

EEIE)

3) Frequency

smgfea

4) Area

SELTC]

Correct Answer: Mass
SSHAT

Candidate Answer: Mass
SSTHTA
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QID: 102 - If 'x' is displacement, time taken 't', initial velocity 'u', final velocity 'v' and acceleration 'a'. Which of the following equations is true?

Ife X' faTUIa & oere arer IHT 't §, URMAS 391 'U' §, 3ifae der V' § T T ‘2’ §, O Reafafad & & sl @ geieor @@ 87

Options:
1)v=u-at
2)a=(u-vt
3)u=v-at

4)t=(u+v)a
Correct Answer: u = v - at
Candidate Answer: u = v - at

QID: 103 - law of motion may be phrased as: An external force is required to keep a body in uniform motion.

_ & fad & FE F 57 YR oG Tod ¢ R Rus(ars)) Hf vegasT afa a6 3@ & AT AS a2 g A 3maTehdr aiar gl
Options:

1) Galileo's

AMafear

2) Khayyam's

TITH

3) Aristotle's

IE

4) Newton's

=gl

Correct Answer: Aristotle's
3E]

Candidate Answer: Newton's
=gl

BN

(,".n\ “—-—
QID : 104 - If a projectile is thrown with velocity 'v' and making an angle '0' with the x-axis the(/the ver’ejcal component of velocity is given by which of the
following formula?

/

afe; I e 'v' 39T A AT x-3787 A '6' 0T SeATcy §U T fohar aram &t 9
Options:

1) vy = v, SinG - gt
2) vy = Vo Sind + gt
3) vy =V, Cosb - gt
4) vy = vy cosO + gt

P— /
m%&mﬁ@a g g & AT Foam T Fehell 82
4 y

-

Correct Answer: vy = v, sind - gt
Candidate Answer: [ NOT ANSWERED ]

QID : 105 - What is the Moment of Inertia of a th ass 'M' and radius 'R' about an axis perpendicular to its plane and passing through its centre?

'M' geg#TE 3R R FIST aTel Teiel Jecleh deidl i deisl
Options:

1) MR%/2

2) MR%/3

3) MR%/4

4) MR?

Correct Answer: MR?

Candidate Answer: MR2/4

TSR 38T & TR STScd JATEOT &7 GIam?

QID : 106 - The expression Iw?/2 represents Rotational

T 10?2 goft ____ i vafeid aar g1
Options:

1) Kinetic energy

aifasT et

2) Angular momentum

HIof FIeT

3) Torque

el 3TEET

4) Power

afFa

Correct Answer: Kinetic energy

EIGE )
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Candidate Answer: Kinetic energy

it et

QID : 107 - The unit of Gravitational constant is?

Teedra Reieh &1 gehrg T §7
Options:
1) NmZkg2

2) Nm2kg?
3) Nm-2kg?

4) Nm-2kg
Correct Answer: Nm2kg™
Candidate Answer: NmZkg™2

Staff Selection Commision

QID : 108 - A square tungsten slab of side 30 cm and thickness 5 cm is subject to a shearing force (on its narrow face) of 7.5 x 107 N. The lower edge is riveted to

the floor. How much (in cm) will the upper edge be displaced? (Shear modulus (G) of tungsten is 150 x 10° N/m2)

T ThR Careee 1 30 A, 37T BT U Fold Foreeht Aiers 5 F.4. ¥ &Y gefell hereh ) 7.5 x 107Na?rmaam§m%| GINT TTelT Holeh BT § et o

B3 &1 9 oreh fctatr (3.30.3) faeenfiid g sefr? (E9reesT &1 3ra%qor 7uTieh (G), 150 X 109 N/m? ®)

Options:

1)2

2)4

3)3

4)1

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 109 - Which of the following has the lowest relative density?

efaf@a & & fFaer 3mIfeIs geica I8 S 811 872

Options:

1) Oxygen

Klleaicn)

2) Hydrogen

RESEE]

3) Air

ay

4) Interstellar space

RTARHT e ReT

Correct Answer: Interstellar space
SRTARAT 3 Re

Candidate Answer: Interstellar space

IRTARPIT 3iecReT

QID:110-1 atm = Pa

1 wéuH = Pa

Options:

1) 760

2) 133

3) 1000
4)1.013 x 10°

Correct Answer: 1.013 x 10°
Candidate Answer: 1000

QID: 111 - equation relates the pressure difference between two points in a pipe to changes in Kinetic as well as potential energy.

T HHIHOT U159 o T [Weg3ii & s STaici 1 Hae ATfcist Soft IRacde qur Reufast et aRade gl # YeRid s el Fena doi g
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Options:
1) Pascal's
qrEhel
2) Archimedes'
TR
3) Bernoulli's

Fefeir

LN

4) Torricelli's

AR

Correct Answer: Bernoulli's

Tl

LN

Candidate Answer: [ NOT ANSWERED ]

QID : 112 - The Venturi-meter is a device to measure the of fluids.

Yoo cRelt & s oy g &
Options:

1) viscosity

ATA AT

2) flow speed

EEIREITT

3) density

Yolcd

4) pressure

AE)

Correct Answer: flow speed

EEIREITT

Candidate Answer: [ NOT ANSWERED ]

QID : 113 - What is the unit of centripetal acceleration?

31fReheg caxoT I 3HIS FAT §?
Options:

1) ms2

2) rad s72

3) deg 572

4) ms!

Correct Answer: ms™
Candidate Answer: rad s

QID : 114 - The escape speed from the suﬁace of th

gt & Yo & TelTeT TIeT e SRR el 67
Options:

1) V(2GMg/Rg)

2) V(GMg/Rg)

3) V(2GRg/Mg)

4) V(GRg/Mg)

Correct Answer: V(2GMg/Rg)

Candidate Answer: [ NOT ANSWERED ]

QID : 115 - If a particle starts from rest and accelerates at the rate of 'a' m/sz, and if its velocity at the end of time t is equal to 'a' m/s then what will its velocity be
(in m/s) at end of time "2t"?

fE IS FHOT FaRTH & IR e & 3R 'a' Hiex / 397 Tohs $T ex A caRd glar & 3R e t TFT & g2ara ST 391 'a' FHeX / Ahs g ATr § af "2t AT & 92ard SHH
a7 (#feX | Sehs #) AT g?

Options:

1) 4a

2) 4a2

3)2a

4) 2a2

Correct Answer: 2a

Candidate Answer: [ NOT ANSWERED ]
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QID : 116 - A fielder throws a ball at 20 m/s at an angle of 15° with the ground. How far (in m) from the fielder does the ball land? (use g = 10m/52)

ek FgaiTet AifIsT & 15 T 10T FA1e] §T 20 #eX / @8 & 997 W 3G Bl §1 3, aRaTH A frcelt gf (e 1) R el (g = 10 #fiex / @9t s 3o W)
Options:

1) 10

2) 20

3) 10v2

4) 20v2
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 117 - The dimensions of Young's Modulus match the dimensions of
Zfar TqoTien Y Fawrd oy farwmsit & e gl €
Options:

1) Pressure

&)

2) Torque

et

3) Momentum

GaaT

4) Weight

A

Correct Answer: Pressure
ars
,/

Candidate Answer: Torque

3ot

LN

QID : 118 - The radius of gyration of a rod of length 'L’ rotating about an axis p: di Iar tc%e rod at its mid-point is
. /

L' oiaTS &Y B3 S 39 elqad, HeT foig F R 3187 & aRd: g7 W g, ol

Options:

1) L/3

2) L/(4V3)

3) L/12

4) L/(2V3)

Correct Answer: L/(2V3) \
Candidate Answer: [ NOT ANSWERED ]

QID : 119 - What would be the acceleration due to gr depth of 1/7t the radius of earth?

g Y ST @ 1/7 T[T AGUE W I&calhyu] & cadul (Het / 33 dhs) e gram?

Options:
1)8.4

2) 11.2
3) 14

4)4.9
Correct Answer: 8.4
Candidate Answer: 1.4

QID : 120 - If the flow speeds of the upper and lower surfaces of the wings of an aeroplane are 260m/s and 250m/s, the wings cover an area of 500 m? then what
would be the lift generated (in kN)? (take density of air as 1kg/m3)

I el g & #fie] Sl & S 3R ol & ool W) ATy g i it e 260 Hiex / @9 31X 250 Fiet / Vs §, A Gt @ atather 500 g9 Hiex § 3§ W
RIS 3eurash gl (kN) AT Y| (AT T Eefed 1 fehellamsT / #iet o=t iford)

Options:
1) 637.5

2) 1275
3) 2550
4) 350
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Correct Answer: 1275
Candidate Answer: [ NOT ANSWERED ]

QID : 121 - Heat is the form of energy transferred between two (or more) systems or a system and its surroundings by virtue of difference.

FSAT Foll T Teh & & TSGR TATATGROT &Y (I1 31f8) Herat & & srar vl e qarsas aRau g & 3R & FROT S B
Options:

1) temperature

GISEIGH

2) energy

Exl

3) heat capacity

FSAT aTiar

4) specific heat capacity

faflrse oAt arfiar

Correct Answer: temperatu re
GIEGICH

Candidate Answer: [ NOT ANSWERED ]

QID : 122 - Which is the correct formula expressing relationship between celsius 'C' and kelvin 'K' temperature scales?

am & afeaaw 'C 3R Hfeas 'K S & i TEY ToY gt arer g Sl v §?

Options:
1) C =K +273.15

2) (K-32)/180 = C/100
3) (C-32)/180 = (K-273.15)/100

4)K=C+ 273.15
Correct Answer: K = C + 273.15
Candidate Answer: [ NOT ANSWERED ]

QID : 123 - Which temperature represents absolute zero?

FieT AT ATIATT A Lo I TG AT HT 87
Options:
1) 273.15K

2) -459.67° F

3) -273.15K

4) 273.15°C

Correct Answer: -459.67° F
Candidate Answer: 273.15 K

QID : 124 - For an ideal gas 'a,’ (coefficient of volume expansion) is equal to?

e A & T 'a, (A FHR T0TIH) Fhesh s gl 82

Options:

1)1/P

2)1/T

3) 1V

4)V/T

Correct Answer: 1/T

Candidate Answer: [ NOT ANSWERED ]

QID : 125 - In thermodynamics is not a state variable.

SeAETTET & Teh 37GEAT T A &1
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Options:
1) density
Yolcd
2) internal energy
37aRe Far
3) enthalpy
FFUT AT
4) Heat
FSAT
Correct Answer: Heat
ICAT

Candidate Answer: [ NOT ANSWERED ]

QID : 126 - A process in which the of the system is kept fixed throughout is called an isothermal process.

a5 e foredhT Ot 3raf®r & e TR @ T §, AT S g 8
Options:

1) temperature

SINE

2) mass

ST

3) pressure

&)

4) volume

adeT

Correct Answer: temperature
aq

Candidate Answer: temperature / g N
aT
A\

I-ga/t rel%ed to the hot reservoir, Qs is the heat extracted from the cold

QID : 127 - The coefficient of performance (a) of a refrigerator is equal to? (Qq
reservoir and W is the work done on the system-the refrigerant.)

et (YBRoRe) &1 forsarest 2qoTian (a) e SR 81aT 82 (Qq 1Y FSAmry Q, &2 FEHRME A HTNT FAT 3R W Frhrg-geiias o feam arar &

gl

Options:

1) Q/W

2) (QQ)/W

3) (Q1-Q/W ;
4) Q/W

Correct Answer: Q,/W
Candidate Answer: [ NOT ANSWERED ]

QID : 128 - In a Carnot cycle . (Where, Oy is the heat absorbed by the gas from the reservoir at temperature T; and Q; is the Heat released by the
gas to the reservoir at temperature T».)

FIAT T 7 | (ST Qq, Ty AT WX 3 SaRT SCATRY & NN AT R Qp, T, AT TR I SaRT Herel Y IT F7AT §)

Options:

1) Q1/Q2 =TT,

2) Q1/Q2 =To/Ty

3) (Q1-Q)/Q = Ty/T;

4) (Q1-Q)/Q = To/Ty

Correct Answer: Q1/Q, = T¢/T>
Candidate Answer: [ NOT ANSWERED ]

QID : 129 - Motion of a body as a whole from one point to another is called?

el wqut Ris B T fig & gt Rig e arfer anr vt 2
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Options:

1) translation
TN afd

2) vibration

hFTeT

3) oscillation

grefeT

4) Brownian motion

ST3AT ATt

Correct Answer: translation
FATATHT I1f
Candidate Answer: [ NOT ANSWERED ]

QID: 130 - are made up of quarks.

Fareht A Ao a1 gid &1

Options:
1) Electrons
SolFeleq
2) Positrons
M
3) Leptons
Eiar:}
4) Protons
;I EA:VU'H
Correct Answer: Protons
§| gud'u

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - The value of Boltzmann constant in SI units is?

SI AT H SecoTATT Radis S Al 3T gidT 872
Options:

1)1.38 x 1023 1K 15!

2)1.38 x 103 7K1

3)1.38 x 1013 3k1

4)1.38 x 10713 1K 157t

Correct Answer: 1.38 x 10723 3 k1

Candidate Answer: 1.38 x 1023 JK'1s'!
QID : 132 - The internal energy 'E' of an ideal gas is . ('T" is temperature, 'N' is is the number of molecules in the sample and 'kg' is
Boltzmann constant) .

ST 3t By SR IS E, 3 e el B (1 AT &, N 3t 3 e o it 6y e 31K kg’ Seeame e Bl
Options:

1) (2/3) kgNT

2) (3/2) kgNT

3) 3kgNT

4) (kgNT)/3

Correct Answer: (3/2) kgNT

Candidate Answer: [ NOT ANSWERED ]

QID : 133 - If a 1 km long steel rail suffers 50°C increase in temperature then by how much will be it's length in increase (in m)? (Coefficient of linear expansion for
steel is 1.2 x 107> K1)

1 5.0, ol T &1 T3 & T 7 50° afcwae Hr 3fg v =i ar sHh oars fardel aeel (Fiex 7)? (Ve # iR JaR o 1.2 x 10° K1 )

Options:

1) 0.24

2) 0.06

3) 0.6

4) 0.024

Correct Answer: 0.6

Candidate Answer: [ NOT ANSWERED ]
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QID : 134 - Molecules of Argon have how many degrees of freedom?

3T 3T & TRATUL3 Y FAIT R R @l #?
Options:

1) two

ar

2) one

Tk

3) three

GIGI

4) five

qrer

Correct Answer: three

GiGH
Candidate Answer: [ NOT ANSWERED ]

QID : 135 - The total internal energy of a mole of a monoatomic gas is equal to?

THIRATU I & Teh AT T el ITcTNeh Foll Shdreh S el 82
Options:
1) 2RT/3
2) 3RT/2
3) 3RT

4) RT/3
Correct Answer: 3RT/2
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - 0 Kelvin equals?

0 Ffcae A sTeR gIar §?
Options:

1) 459.67° F

2) - 459.67° F

3) -273.15°C

4)0°C

Correct Answer: - 459.67° F
Candidate Answer: -273.15 °C

QID : 137 - If 100g of iron at 20°C is giveh 2250 jou emperature will rise to OC. [Specific heat capacity of iron is 450 J/(kgK)]

3R 20° @fewar g o2 ollg & 100 ATH T 2250 Siel SO &l ar 3GT dIATT ° gfcaTd ae 9g SUa| [lig i faflrse FvaAT g737ar 450 1 / (..

K&

Options:

1) 50

2) 90

3)70

4) 30

Correct Answer: 70

Candidate Answer: [ NOT ANSWERED ]

QID : 138 - What is the ratio of r.m.s. velocities of the molecules of two gases 'A' and 'B' if temperature of 'A' (molecular mass 16) is 200K, temperature of 'B'
(molecular mass 2) is 400K?

ar At A" (3T GeT AT 16) 3R 'B' (0TI Ged@Tet 2) Y JeT AT el dlell &1 Ul ATl Y Afer 'A' T dTIATT 200K 37K 'B' &7 AT9HTT 400K §?
Options:

1)1:2

2)1:8

3)1:4

4)1:16

Correct Answer: 1: 4

Candidate Answer: 1: 2
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QID : 139 - If an enclosed gas is compressed to 60% of its original volume then by how much (in %) will its pressure increase, temperature remaining constant?

I FATGT 3 & T (AR 3raae &1 sHS areatas A & 60% dsh HN ST R o o s g 7 fhceh (% #) gig gl afe arere & R @ S §?
Options:

1) 40

2) 60

3)33.3

4) 66.7
Correct Answer: 66.7
Candidate Answer: 60

QID : 140 - A heat engine takes in 750] of heat from a hot reservoir and produces 450] of work in each cycle. What is its efficiency?

Teh SSAT SoTeT I3 FSAT 3R & 750] FSAT o § 31T T Tsh & 450] FT T &1 ST G&TaT 4T gef?
Options:

1) 0.75

2)0.3

3)0.5

4) 0.6
Correct Answer: 0.6
Candidate Answer: [ NOT ANSWERED ]

QID : 141 - The smallest interval of time after which the motion is repeated is called its

F R T ST R e T B g A § g 81 (
Options:

1) period
KICREI

2) phase
ol (JTaET)
3) frequency
sqfes

4) span
o

Correct Answer: period

EICGEIC]

Candidate Answer: period

KICREI

N

QID: 142 - If f (t) = A sin wt + B cos wt is written as £ (tj = D sin (wt + ¢ ) then '@" is equal to?

I f (t) = A sin ot + B cos ot &I f (t) = D sin (ot + @) & e @ STar g a '¢', fhde ST g &7
Options:

1) tan"}(A/B)

2) V(A? + B2)

3) tan"1(B/A)

4)A+B

Correct Answer: tan™}(B/A)

Candidate Answer: [ NOT ANSWERED ]

QID: 143 - motion is the projection of uniform circular motion on a diameter of the circle in which the latter motion takes place.

oS v WA I A1 ST 3 g & SATE W 98T g & oreet g ader aif oy W@ §
Options:

1) Simple harmonic

T 3TaT

2) Translatory

TR

3) Rotary

goft

4) Linear

ecin)
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Correct Answer: Simple harmonic
T 3
Candidate Answer: [ NOT ANSWERED ]

QID : 144 - The kinetic energy of a particle performing simple harmonic motion is whose displacement is f(t) = A cos(wt + @).

YT 3TTa AT T T hUT T aTfist Fol _ gielr & Torerent faemaet fi(t) = A cos(wt + @) &1
Options:
1) (1/2) mwAZsin(wt + @)

2) (1/2) mw?Asin?(wt + ¢)
3) (1/2) mw2AZsin2(wt + @)

4) (1/2) mw2A%sin(wt + @)
Correct Answer: (1/2) mw?AZsin?(wt + @)
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - The displacement of a particle performing damped simple harmonic motion is . ('b'" is damping constant, a is the amplitude and 'w' is the
angular frequency of the damped oscillator)

AT AT T fT Y ¢ 0T 7 e Flar g1 ('b' 3rawieet Ui, a' 3 3R ‘o' 3a#fed arers & 3ghed §)
Options:

1) A eVM cos (w't + @)

2) A ePV2M o5 (w't + @)

3) A2 ebt/2m o5 ('t + )

4) A2 eDYM cos (w't + P)

Correct Answer: A eP2M cos (@'t + @)
Candidate Answer: [ NOT ANSWERED ]

QID: 146 - waves associated with electrons are employed in electi

AT ol ¥ g el § Toretant 3uier Sorarelet gergelt 7 fmar smar &1
Options:
1) Mechanical

ity

2) Matter
ac

3) Electromagnetic

4) Harmonic

3Tadf

Correct Answer: Matter

ac

Candidate Answer: Electromagnetic

QID : 147 - The speed of transverse waves on a stretched string is given by v = V(T/X), where 'T' is tension in the string and the unknown term 'X' is?

Tt Arferer SR oY 91eT Shelt TRl Soreey ot &Y =f1el v = V(T/X), 81l & Sel 'T' 3RY & oefrar & 3R 377y iRy X' arm 82
Options:

1) Linear mass density

I+ oA geica

2) Bulk Modulus of the medium

HTEYH FHT Fooh 0TH

3) Young's Modulus of the medium
HEYH I I IOTH

4) Density of the gas

3T FT geica

Correct Answer: Linear mass density
@ geuA gaca

Candidate Answer: [ NOT ANSWERED ]
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QID : 148 - The frequency observed if the source is moving away from the observer is equal to . ('fo' is the frequency observed if both source and
observer are stationary, 'Vg is speed of source and 'v' is speed of the wave)

ITE T Vet A G o 6T & off Wiaid 3Mgied __ & SUa< 8l 51 (fy T8 v 3mafea & S &t 31X Jatens gt o e gier oX ATy Y §, 'V Tt 1 met 31X
T Fr At )

Options:

1) fo(1 - Vg/V)t

2) fo(1 + V/Ve)'t

3) fo(1 - V/Vo)t

4) f(1 + Vy/V)'1

Correct Answer: f(1 + Vg/V)!

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - The gap between two successive anti-nodes in a stationary wave is?

FHOETHT AT F & FART TG (Veel-aA158) 3 dra 67 gt farcetr gl 872
Options:

1) M4

2) A

3) 2\

4) N2

Correct Answer: \/2

Candidate Answer: [ NOT ANSWERED ]

QID : 150 - In a standing wave, in a pipe open at both ends, the first harmonic has?

2t AT oY ot et arg Y 3rSreet oer # wus quTgied 7 T gl §?
Options:

1) 2 nodes and 1 anti-node

2 fadg (Agw) 3R 1 yede (Wdr-A18a)

2) 1 node and 1 anti-node

1 fede (Aew) 3R 1 Tede (Wd-Ag)

3) 1 node and 2 anti-nodes

1 g (Asd) 3R 2 gedg (WE-Ad)

4) 2 nodes and 2 anti-node

2 fawde (Asw) 3R 2 yede (Wd-A5d)
Correct Answer: 1 node and 2 anti-nodes
1 fede (Asw) 3R 2 Tede (Wd-Aigd)
Candidate Answer: [ NOT ANSWERED ] |~
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QID: 151 -
Match the position of the image obtained with position of an

object placed in front of a convex lens.

gIed gs ofa 1 Rufa & amr scdae o & @ g
U g¥d H Fafa & e &)
Position of the image Position of an object place in
front of a convex lens
afy & Ryl o B M £ T L B K B R

A_ At infinity 1. Onthe other side
of the lens at infinity

A 3EE W/ 1. 99 ¥ g@ll % 39T W
B. At focal point 2. On the other side of the
lens at focal point
B.iga fdg W 2.9 & gEll W% ®ed g W
C. At centre of curvature 3. On the other side of the lens

at centre of curvature

C.awal & &g A 3.9 & gl TU% o%dl & d8 W

Options:
1) A-2,B-1, C-3

2) A2, B-3, C-1
3) A3, B-2, C-1

4) A-3,B-1,C-2
Correct Answer: A-2, B-1, C-3
Candidate Answer: A-2, B-1, C-3

QID : 152 - A ray parallel to the principal axis incident on a con eflection

TRl 3racTel 90T TR 3 et arell fhor 3 B & geErd ____ @ TR 8l

Options: p
1) retraces the path it came from 24
Y TY Y G T A &

2) becomes parallel to the principal axis
T 38T & FAIR g S &

3) passes through the focus

B & TR § 4

4) deviates in such a way that when projected backwardé passes through the focus
Ie AT & 56 a¥E gl § 1o ofe & NS BT 3R 9 gl § o B § e §
Correct Answer: passes through the focus

e F TR &

Candidate Answer: [ NOT ANSWERED ]

QID : 153 - If the object is at infinity, then the image obtained after reflection from a concave mirror is?

I TEq IeTd R g all, Aol GUUT § TIectel o TR Tfcifelay T gie 87

Options:

1) at the focus, highly enlarged, real and erect

I I, Tg 31T T, It AR wer

2) at the focus, highly diminished, virtual and inverted
I T, Tgel BT, HTHRY 3R Ioer

3) at the focus, highly diminished, real and inverted
PIRH I, SE BIe, aredfae AR Seer

4) at the focus, highly enlarged, virtual and erect

I U, SET J1TRIe wST, T 3R wer
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Correct Answer: at the focus, highly diminished, real and inverted

Hhd W, g BleT, arEdias 3R 3ol
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - In case of a primary rainbow, the ray of light suffers in the water droplet.

UM FIEFIE & FROT GAHE o]y Feet
Options:

1) refraction twice and reflection once

&Y I 399 3R TF IR Rrad=T

2) refraction twice and reflection twice

&Y I 399 3R & IR Wrade

3) reflection twice and refraction once

g IR Rade 3R T aR 39ade

4) reflection once and refraction once

T IR WTad 3R Teh a1 319acdst

Correct Answer: refraction twice and reflection once

& R 379dce 3R T IR RIadeT

Candidate Answer: refraction twice and reflection once

& R 379dce 3R T IR RIad=T

QID : 155 - The refractive index of denser medium 2 with respect to rarer medium 1 is equal to? (where 'C' is critiIc;I angle)

e HTETH 2 T TaTel ATEAH 1 & FIVET 3Tacialioh ohdeh aIa giaT &2 (ST8T 'C' shifcieh IoT giell 8)
Options: .
1) cosec C {
2)sin C

3)cos C
4)tan C

Correct Answer: cosec C
Candidate Answer: [ NOT ANSWERED ]

QID : 156 - A wavefront is defined as a surface of

TEMT H el & Y53 & w9 # aRenf¥a fmar S g
Options:

1) increasing

e g

2) constant

Teh HATT

3) decreasing

gedl g8

4) time variable

TH F WY Seer g8
Correct Answer: constant
Teh AT

Candidate Answer: [ NOT ANSWERED ]

QID : 157 - If a plane wavefront is incident on a convex lens then the emergent wavefront will be of the lens as its centre.

T IS TS AT ool oFF 9T AT gicll § oY STex ehela) aTell oemay ____ @Y Sl § 3R o & oX 31faRa g &1
Options:

1) spherical with centre of the curvature of the surface
AT, ThdT g

2) conical with focus

QFATHR, BlHd

3) spherical with focus

TN, Bhd

4) conical with centre of the curvature of the surface
QIFATRR, T ey

Correct Answer: spherical with focus

e, BlRd

Candidate Answer: [ NOT ANSWERED ]
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QID : 158 - Light seems to turn around corners and enter regions where we would expect a shadow. These effects, known as

SRR 1Y & HSHT I &1 3 T AT §HT Fllel GIelT & STET & STAT T II&T HI &1 $o7 TG 1 ____ g Sfietl ¢
Options:

1) interference

safaeoT

2) diffraction

[EEGCH

3) polarisation

WUT

4) refraction

39adeT

Correct Answer: diffraction

[EEGOH
Candidate Answer: [ NOT ANSWERED ]
QID : 159 - Find the minimum angle of deviation of a thin prism of 5° angle of prism and 1.5 refractive index?

TeTelt e &7 =gt freretet &t 10T 71T Y 16T foeat 1 H1o7 5° AR HaAT 3rvaciaien 1.5 87
Options:
1) 7.5°

2) 2.5°
3) 6.5°

4)3.5°
Correct Answer: 2.5°
Candidate Answer: [ NOT ANSWERED ]

QID : 160 -
Refer to the following diagram to calculate how far

{in cm) will the image be formed from the lens?
AB is the obiect,

Pefaf@a 3w & d@ed o 3R uEr
Y i o & Fhae gy (S8R #) ofy
R T v g

Options:
1) 10

2) 15
3) 12

4) 20
Correct Answer: 12
Candidate Answer: 15
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QID: 161 -
Refer to the following diagram to calculate
the ammeter reading (in A).

vty §fer & aorEr (A A7) = & v
fArfaf@a 3w # det o
150
VWAL o
300 — /AN
——MWWW—

l;
| 45V @
! WY
Options:
1)0.3
2)0.2
3)0.1
4)0.5

Correct Answer: 0.3
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - The electric field produced by the charge 'Q' at a point 'r" is given as

'Q 3 gaRT &g ' W 3euet fagga a1 anT wefdid R S
Options:

1) Q%/(4neqr?)

2) Q/(4neyr)

3) Q%/(4neqr)

4) Q/(4neyr?)

Correct Answer: Q/(4ngyr?)

Candidate Answer: [ NOT ANSWERED ]

QID : 163 - The magnitude of electric field q;;f
the centre of the dipole and where '2a' is the dista

, where 'p' is the dipole moment, 'r" is the distance of the point from

3767 o TeureT Torelt g o fore efayga o1 fagad &
Options:

1) ga/[neg(r>-a%)?]

2) gar/[ney(r?-a%)’]

3) qar/[ney(r?-a%)>/?]

4) ga/[neg(r>-a2)*?]

Correct Answer: qar/[ne(r2-a%)?]

Candidate Answer: [ NOT ANSWERED ]

QID: 164 - of charge 'q' at a point is the work done by the external force in bringing the charge 'q' from infinity to that point.

TRl fofg o) 3maer 'q' B STE el SaRT 3TART 'q' 1 IHefcd § 34 fig T o S & R T H1 & SR @Il B
Options:

1) Electric potential

ey fasra

2) Electric field

facge &

3) Kinetic energy

aifast s

4) Potential energy

eufas s

Correct Answer: Potential energy

egfast Fam
Candidate Answer: [ NOT ANSWERED ]
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QID : 165 - The total work done in assembling the point charges 'qy,, 'qy and 'z is equal to . (r12, rp3 and r3y are the distances between these
charges)

g 3maeit 'qy, 'qy 3R 'qz BT THT A H RATITAMFA FE & ST 81 (11, ro3 AR r3y 3o 3aeif r afrer Y g3 )

Options:

1) 1/(4neo) x V(q102/r12 + A203/r23 + G391/r31)

2) 1/(4ng,) X (A102/r12 + 9293/r23 + d391/r31)

3) 1/(4no) X (Q102/712 + G203/r23 + 31/r31)

4) 1/(4ngo) x [V(a102/r12 + G203/r23 + A301/r3p)]t

Correct Answer: 1/(4ngg) X (q192/r12 + G293/r23 + 9391/r31)
Candidate Answer: [ NOT ANSWERED ]

QID : 166 - Which of the following results regarding electrostatics of conductors is false?

Arereh REeRAGI TR % Foer 7 rfafld & & Far 3rea §?

Options:

1) At the surface of a charged conductor, electrostatic field must be normal to the surface at every point.
AR =Teleh & Helg W, Heg & Tedsh [¥g W Ferdegd a1 iffciaad giar arfge

2) Inside a conductor, electrostatic field decreases from the surface towards the centre.

Arereh 3 $NY FURACYTETT Hg & s Y 3R ha gl STl &

3) The interior of a conductor can have no excess charge in the static situation.

T FEfa & forelt aree & 3] & 1S 31faRerd 3maer w61 g Tehar

4) Electrostatic potential is constant throughout the volume of the conductor and has the same value (as insi
W%Wmﬁwa@aﬁmﬁmm%ammmmmwsﬁw(aﬁmé;wmj).

or{its surface.

Correct Answer: Inside a conductor, electrostatic field decreases from the surface towards the centre. { i \

Alefeh & e RS TeTT Felg U g 1 3 HH gIar oIl & \ }
AR v

Candidate Answer: [ NOT ANSWERED ] ( \‘}

QID : 167 - The dielectric strength of an insulating material is measured in Y . \,\\...."’/

{f Y
Tt e Jare & e el # A ST \ F
Options:
1) V/m

w

2) v/l

3) V/F

<

0? ('Q" is magnitude of charge on each plate of the capacitor of capacitance 'C')

4) V/A
Correct Answer: V/m
Candidate Answer: [ NOT ANSWERED ]

QID : 168 - Energy stored in a parallel plate capacitor is eq

FATR afge G 7 Fafed ST fred SRR elel 62 (Sie1 'Q', 'C' e arer Henia & Ye3sh Tole IX HIIT T IREATOT &)
Options:

1) C%2Q

2) Q%2

3) Q%/C

4)c%Q

Correct Answer: Q%/2C

Candidate Answer: [ NOT ANSWERED ]

QID : 169 - When two resistors 'Ry and 'Ry are connected in parallel, the effective resistance is equal to?

af &Y aferiers 'Ry AR 'Ry FHICR 521 3 53 §U §, A el fcRrersha fohareh ara g19ir?
Options:

1) (Ry + Ro)/(RyRy)

2) RiRy/(Ry + Ry)

3) RiRy/(Ry + Ry)?

4) (Ry + Rp)%/(RyRy)

Correct Answer: R{Ry/(R; + Ry)

Candidate Answer: [ NOT ANSWERED ]
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QID : 170 - Current per unit area called current density (j) is equal to? (Where 'e' is charge on an electron, '¢" is conductivity, 'm' is mass of an electron, 'E' is the
electric field, 'T' is relaxation time and 'n' is the number of free electrons per unit volume of a metallic conductor)

e o ufer Uenieh &1 ORI EeTeq (j) FEam & S fonaeh arat g 82 (5787 e’ Solorglel WX 1A, o' ATeiehal, 'm' Solarelel &l Gea#we, 'E' faggd &, ' fasifar srer
3R ' e & FUTRA & 9T Uohish IRIA H Had Solacied S HEAT §)

Options:

1) neTE

2) ne?t/m

3) oE

4) et/m

Correct Answer: oE

Candidate Answer: [ NOT ANSWERED ]

QID : 171 - Magnetic force on a conductor of length 'L' and carrying a current 'I' kept in an external magnetic field 'B' is equal to?

'L SIFETE aTell Felersh TSrae T 4RT afed g 81 8, & 91ed Jeehia 19 'B' & HROT of9le] alell YFaehrd Jof foheh SRR giar 872
Options:

1) BIL

2) B2I/L

3) I2L/B

4)11%/B

Correct Answer: BIL

Candidate Answer: [ NOT ANSWERED ]

QID : 172 - What type of voltage is applied to the dees of the cyclotron?

ST o 3T W FoFE g T deedT T T fhaT STTar 82
Options: -
1) Low frequency alternating voltage

o1 3ngfed gearadt aleedr {
2) High current direct voltage V
3o YN fgse aeear

3) Low current direct voltage

e amr fese ateedr

4) High frequency alternating voltage
3T ATqicd Fedradt eRT

Correct Answer: High frequency alternating voltage
3= Jrgfed Searadf arT

Candidate Answer: [ NOT ANSWERED ]

QID : 173 - Two long straight parallel conductors ted by a distance 'd' and each carrying a current 'I" attract each other with a force equal to

& FHAT FiaTs L' & FeTordh it Teh gEN & Gt el d' gl T AN A IS H T U FARA TG ETH G A T Y I e £
Options:

1) polL/(2nd)

2) pol%L/(nd)

3) polL/(nd)

4) poI2L/(2nd)

Correct Answer: |I,1%L/(2nd)

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - Which of the following is false about magnetic field lines?

YEaehY 81T X1 & fawy & fFefafad # & 41 3racg §?

Options:

1) The tangent to the field line at a given point represents the direction of the net magnetic field 'B' at that point.
&1 YT & ol foig) o Wit arely st Y@ 34 foig o) TR grehrar &7 ‘B Y R arare &1

2) Magnetic field lines start at the North pole and end at the South pole.

TSI &7 YEIT el ¢ & TR el ¢ 3R el g o¥ @aAred gief &1

3) The larger the number of field lines crossing per unit area, the stronger is the magnitude of the magnetic field 'B'.
& & olaad T IV el & Tt TS &1l § FAAeT 31fReh &1 Y@V J[erell 8, 3o &Y 31Tk 39 T W ooy &1F 'B' T IRAT0T ghell 2
4) The magnetic field lines do not intersect.

TEIHI 87T YWIT T G Y el 761 8

Correct Answer: Magnetic field lines start at the North pole and end at the South pole.

TFIHII 87T TWIT Seciy Y & TR ghell & 3R afarol g o) Fared gl €1
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Candidate Answer: Magnetic field lines start at the North pole and end at the South pole.
YFIHIY 8 XWIT Iccll Yo & IR giell & AR &l o v aared g &1

QID : 175 - Consider a long solenoid of 'n’ turns per unit length and carrying a current 'I'. The magnetic field in the interior of the solenoid was shown to be given

by Bo=

Te Tl aRaATToreRT SRy forerdhT 9 gar$ ofars F 'n' Y g1 3R st T ey wafee &Y W 8| 5w aRenfor & 3rwex graehr 819 1 afeor B, =

T BT B
Options:

1) UonIZ

2) nl/y,

3) ponl

4) nI%/pg
Correct Answer: pnl
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - The relationship between relative magnetic permeability 'u+ of a substance and its magnetic susceptibility 'x' is given by

Tt emel S 3maferss gaenelierar 'up 3R sEht g wafea '} # T e B
Options:

Dp=1-x

2 =1+x2

3pr=1+x

A =1-x

Correct Answer: |, = 1 + X

Candidate Answer: i, = 1 + x?

8

QID : 177 - AC power is expressed as . (Where 'i', amplitude of the AC current and 'R' is circuit resistance)

/

ol v Ll
AC af¥ar 1 G SaTe T ST §1 (T8 i, AC HIRT 1 31T 34 R’ afq(fife) et 8)
Options: ‘
1) iR
2) im2R/2
3) inR%/2
4) i R2
Correct Answer: i,2R/2
Candidate Answer: [ NOT ANSWERED ]

QID : 178 - For a series 'RLC' circuit driven by volta
(Where X' is capacitive reactance and X' IS inductive

current is given by i = i, sin(wt + @), the impedance (Z) of the circuit =

aeedl v = Vpsinwot gaRT Garford el Aol sg 'RLC! GRT2 3 &RT 1 &1 | = i, sin(wt + @) EaRT a1 ST &, giay & yfaemer (2) = _ @i &1 (stel X' eniar

gfaera 3R X' Rve wfaad §)
Options:

1) V[R? - (Xc - XD

2) RZ + (X - X)?

3) R? - (X - X)?

4) VIR? + (Xc - X%

Correct Answer: V[RZ + (X - X\)2]
Candidate Answer: [ NOT ANSWERED ]

QID : 179 - The equation $E.dA = Q/g, represents

FHHIOT FE.dA = Q/g,
Options:

1) Gauss's Law for magnetism
Yraehed Haell 39 forae

2) Faraday’s Law

WS @ e

3) Ampere — Maxwell Law
VPrR-Aeadd f@ad

4) Gauss’s Law for electricity

T JE R T B
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Correct Answer: Gauss's Law for electricity
Candidate Answer: [ NOT ANSWERED ]

QID : 180 - The wavelengths of which electromagnetic waves is between those of radio waves and infra-red waves?

ot FreeTradier ot 1 Rereed e arett 3R v it & v g &2
Options:

1) Ultraviolet

RIS ITAT

2) X-Rays

X-ferot

3) Gamma rays

AT fRoT

4) Microwaves

A

Correct Answer: Microwaves
A T

Candidate Answer: Microwaves

A T

between the proton and the electron which is equal to . ('e" is charge on an electron)

QID : 181 - For a dynamically stable orbit of radius 'r' in a hydrogen atom, the centripetal force for rotation is pro?jed by the electrostatic force of attraction

TS gTS3Iotel WA # aTfereliel &7 & 'r' B arely Fu et & forw golar & fow ey s & oiele iy,
fraTomard, S F SR | (‘e SO WIEe )
Options: '
1) e/(4neyr?)
2) e%/(4neyr)
3) e%/(4neyr?) f/
4) e/(4negr)

Correct Answer: e2/(4ng.r2)

A ST & RiegerdfaieT TeT g@RT e

Candidate Answer: e2/(4ng,r?)

QID : 182 - The empirical formula for the observed wavelengt gem IS 1/A = R(1/k2 - 1/n2), where 'R' is Rydberg constant. For the Lyman series the
value of 'k' is?

BTS3ISTeT o ToIT 37deliche] fohaT 31T AT &84 (
Options: )
1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

T 1B R(1/K? - 1/n?) &, STeT 'R' Rt Reerisn &1 amsaier Aoft & fore 'k &1 #ver &7m &7

QID : 183 - The value of Planck's constant is x 1034 Js,

Colieh & TEURTeh T AT x 1034 35 &1

Options:
1) 1.1
2)3.3
3)6.6
4)38.8

Correct Answer: 6.6
Candidate Answer: 6.6

QID : 184 - Energy of an electron in the nt orbit of an hydrogen atom is equal to ev.

T gTSgISte TRATY & nth et 7 v gl Y Foll eV & SRTeR axr &1
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Options:
1) -13.6/n

2) -13.6/n2
3) -13.6n?

4) -13.6n
Correct Answer: -13.6/n2
Candidate Answer: -13.6/n?

QID : 185 - The bohr's radius of an hydrogen atom is

Staff Selection Commision

its principal quantum number.

Teh gISgeTel SRATY] & SR T a1 38 HET FACH 78 &

A gl

Options:

1) inversely proportional to the square of
& g3 & ook 3T

2) inversely proportional to

& gceh# Ui

3) directly proportional to

& e s

4) directly proportional to square of

a7 & A STt

Correct Answer: directly proportional to square of

a9 & @ oo
Candidate Answer: [ NOT ANSWERED ]

QID : 186 - Calculate the wavelength (in nm) of the spectral line of Lyman series for n = 2. (Ryd

n = 2 & T ATSAT Afwer it goiwerr Y@ & aier e (nm #) F 0% | (ﬁgav‘rmil x 107 ml)

Options:
1) 121
2) 221
3) 321
4) 421

Correct Answer: 121
Candidate Answer: [ NOT ANSWERED ]

QID : 187 - Nucleus of 237Npg3 emits an al

BINpgs wTaAMBS_ FroAEE
Options: 2
1) 233U92

2) 225Ac89
3) ZZBRaSS

4) %pag;
Correct Answer: 233pag;
Candidate Answer: [ NOT ANSWERED ]

QID : 188 - 209Big3 — ATig; + a particle. What is the value of 'A”?

209Bjgs — ATigy + a ST | 'A' T ATl T &2

Options:

1) 205

2) 206

3) 203

4) 207

Correct Answer: 205

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - 120505 and 1185n5 are examples of?

1205n ik 1185n5, forareh 3emeeor &2

r}t)1.1 x 107 m1)

Y
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Options:

1) Isobars

HAATRS

2) Isomers

HATIITAT

3) Isotones

ARG

4) Isotopes

AT S

Correct Answer: Isotopes
gaREAfS
Candidate Answer: [ NOT ANSWERED ]

QID : 190 - There is enough hydrogen in the sun to keep it going for about years.

TIST H g1 BTSIoTT & S st T T & AT g g
Options:
1) 5 million
5 fafoae
2) 1 billion
1feforaa
3) 5 billion
5 faforae
4) 1 million
1 o=

Correct Answer: 5 billion

5 fafergeT
Candidate Answer: [ NOT ANSWERED ]

QID : 191 - An atom of 72Ge32 has how many neutrons?

72Ges, % TR 9] # fohce =geiew g1 §?
Options:

1) 72

2)32

3) 40

4) 52
Correct Answer: 40
Candidate Answer: 40

QID : 192 - Half life of Erbium-165 is 10 Héurs. How much Erbium (in gm) will be left out of 0.5gm after 20 hours?

SXIeT -165 1 318 SiasT 10 ©¢ g1 20 ef & aig 0.5 uﬁ‘@ﬁmmm(wﬁ)aﬂm?
Options: 27

1) 0.25

2) 0.0625

3) 0.125

4) 0.03125
Correct Answer: 0.125
Candidate Answer: [ NOT ANSWERED ]

QID : 193 - In, + 235Ug; — YBasg + 93Krsg + 3!n,. Find 'y' from the given fission equation of an uranium nucleus?

g + 235Ugy — YBasg + SKrsg + 3n,. ATH AfHF & v 71w s Gieor & Yy A HY
Options:

1) 138

2) 139

3) 141

4) 140

Correct Answer: 140

Candidate Answer: [ NOT ANSWERED ]
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QID : 194 - 'H; + 'Hy — 2Hy +

1H1 + 1H1 — 2H1 +
Options:

1) Positron
arsfert

2) Proton

et

3) Neutron

=g

4) Electron
EEETC]

Correct Answer: Positron

Grefrere

Candidate Answer: [ NOT ANSWERED ]

QID : 195 - Calculate the mass defect (in 'u') in an atom of 1608 of atomic mass 16.12744 u. (masses of neutron, proton and electron are 1.00866 u, 1.00727 u and
0.00055 u).

16.12744 u SRATY] GEAAT dTer 160g & TRATU] 7 geattet QW (u' #) & AT Y| (7T, el 3R FATeiaT & GegaleT FHA: 1.00866 u, 1.00727 u 31 0.00055 u
?)

Options:
1) 0.008800
2) 0.013200

3) 0.002200
4) 0.004400

Correct Answer: 0.004400
Candidate Answer: [ NOT ANSWERED ] (/

QID : 196 - The three electrodes of a vacuum triode were anode, plate and P -

T JFgHA i8S & i gelals Tels, Toie 3 |
Options:
1) cathode
FUTs

2) grid
[DE

3) tetrode

4) valve

dled
Correct Answer: grid

IDES
Candidate Answer: [ NOT ANSWERED ]

QID : 197 - In an extrinsic semiconductor doped with trivalent impurity,

IS (grédele) 3R & AT Teh o 13 Ueh agdy referersh & I

Options:

1) both electrons and holes become majority carriers

gl 3R S (eew) AT JHE dgeh o S &

2) both electrons and holes become minority carriers

FoFgled 3R Je(BIew) el HeTHCIH aTeeh o ST &

3) electrons become the minority carriers and holes the majority carriers
ST ICTHE ATgeh aef STl ¢ HN BG(SIeH) WIE ATea Fef ollet &

4) electrons become the majority carriers and holes the minority carriers
S SEHET dTEh §eT STl § 3R SE(EIed) HeTHTIDh dEh §el S §
Correct Answer: electrons become the minority carriers and holes the majority carriers
ST HETHEI ATeeh aef STl § IN BG(GIeH) YW ATea Fef oflel &
Candidate Answer: [ NOT ANSWERED ]

QID : 198 - In a transistor the is of moderate size and heavily doped.

T giforeer & HEIH TR HT AR AR G F SRl @I &
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12/8/2017 Staff Selection Commision
Options:
1) emitter
3cTSTh
2) junction
e
3) base
3R
4) collector
HamE
Correct Answer: emitter

ERSEED

Candidate Answer: emitter

3cTeih

QID : 199 - When a transistor is used in common emitter configuration the variation of the voltage is called the input characteristic.

S Teh TITSIEeT &l 31TH 3choish [9eard & TA1T foham e & ar Aot & AT T 3oAqe TRIvar ST S ¥ |
Options:

1) base current with the base-emitter

YR 3cHF & AT YR &RT

2) emitter current with the base-emitter

TR 3T & TATY Schoish URT

3) base current with the base-collector

HTYR-FIATEH o T TR &R

4) emitter current with the base-collector
ITUR-TIAESF & TTY 3cHolh URT

Correct Answer: base current with the base-emitter
TR 3ol & TTY TR 4RT

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - The output of an OR gate is 0, if the inputs are

RICEC R R g, o T OR J1c &1 3m3eqe 0 g1 &1
Options:

1) (0,0)

2)(0,1)

3) (1,0)

4) (1,1)

Correct Answer: (0,0)

Candidate Answer: [ NOT ANSWERED ]
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